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Which of the following compound gives poor
yield in friedel-craft reaction
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Most reactive towards nitration reaction (Sub-
stitution electrophilic aromatic)
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Which of the following compound gives ben-
zoic acid when it reacts with hot KMnO, fol-
lowed by aridifiratinn

e by IR ISR
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Product (B) will be :
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— oo (A), Product (A) is
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The major product formed in the reaction is :
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Which one of the following compounds under-
goes bromination of its aromatic ring at the
faStEbt Iate ?
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In the reaction the major product formed is :
o L- +)
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